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(Kaxknas samaua olleHuBaeTcs B 7 6as1710B)

4. TlepBble k “JI€HOB a1, dg, . . . , G} TOCTETOBATEIBLHOCTH (Gy, ) — PA3JIUUHBIC HATYPAJIb-
Hble 9UCJIa, a IpU N > k IUCII0 a4, — HauMeHbIlee HATYpaJbHOE THCII0, HE TPEICTaBIMOe
B BUIE CYMMBbI HECKOJIBKUX (BO3MOZKHO, OJHOTO) U3 UUCEI A1, A2, ..., (p—1. LHOKaxKuTe,

ITO ¢y = 20y—1 TPH BCEX TOCTATOTHO GOJIBITHIX 7.

5. Huna xaxmoro HarypasidbHoro k obosuadnm depes C(k) cyMMy Bcex passimaHbIX
npocThix nesuteseit ancia k. Hampumep, C(1) = 0, C(2) = 2, C(45) = 8. Haiinure BCe
HaTypasbHble n, 1A Kotopbix C(2™ + 1) = C(n).

6. B mpoctpancTBe maubl mpaBusibHb TeTpasap ABC D u npousBosbHble Tourn M
u N. Hokaxurte HepaBeHCTBO

MA-NA4+MB -NB+MC-NC>MD-ND.

(Terpasnp HasbIBACTC NPABUALHBLM, €CJIU BCE MECTh €ro PEGEP paBHbL. )
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(Each problem is worth 7 points)

4. Initial terms ay, as, ..., a; of a sequence (a,) are different positive integers, and
for n > k the number a, is the minimum positive integer not representable as a sum of
some of the numbers ay, as, ..., a,—1 (maybe one of them). Prove that a, = 2a,_ for

all large enough n.

5. Let C(k) denotes the sum of all different prime divisors of a positive integer k.
For example, C(1) = 0, C(2) = 2, C(45) = 8. Find all positive integers n such that
C(2"+1)=C(n).

6. A regular tetrahedron ABCD and points M, N are given in space. Prove the
inequality

MA-NA4+MB -NB+MC-NC>MD-ND.

(A tetrahedron is called regular if all its six edges are equal.)



